1. Approximate real zeros with zoom and trace(on calculator)
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2. Sketch graph of rational function as sketching aids, check for intercepts, symmetry, vertical asymptotes, and horizontal asymptotes
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3. The management at a factory has found that the maximum number of units a worker can produce in a day is 30. the leaning curve for the number of units N produced per day after a new employee has worked t days is given by 
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After 20 days, a worker produced 19 units in 1 day.

a. Find the learning curve for this worker (first hand the value of k)

b. How many days should pass before this worker is producing 25 units/day?
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